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2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

G919 R (e webE T iy

fa) Mention one objective of Indian fiscal
policy.

ST IR NS 961 Sevpn Seame 941 |

{b) What is repo rate of the RBI?
e e @ @1 76 [ 2
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(c)
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(g)

(h)

(i)
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(zi)

State one direct in
strume 3
oot i nt of Indian

ST TGS <1 2oy wiften Sgarg 41 |

What is meant by ‘financial inclusion’?

‘ﬁ@ﬂwtf’m%ﬁm?

Give the meanin
f ; .

Investment!‘ Byi0 ‘Forelgn Direct
(4
&) tqpﬁ%@ﬁﬁﬁaﬂﬂ%iwﬁfﬁﬁn|
What is  capj '

pital : :
agriculture? formation  in
IS T 5107 f 9

G1.ve ,the meaning of ‘minimum g
price’ of agricultural Produce Bk
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State one reason f

] n for th : x
service sector in Indjg rcegmrf;ﬂwm i
e e wEer o oL
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What is agricultural prod

R SesAmT e f 9

Mention one method
disinvestment,

WAl RCEE: o S

Uctivity

of public sector

( Continued )

(k)

)

(m)

n)

(o)

(3)

Define the concept of ‘sustainable
agriculture’.

TN PR Ao < A |

What is diversification of industries?

Srmiie o 2

State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.

358 T SN AFIT #Fe 41 FHeH TR
iz o1 o Soar e 9 |

What kind of manufacturers are called
small-scale industries?

R W Seowee Fagred o I Gl
2 ?

Define monetary policy.

s T Ko@) (@ |

2. Anewer any five from the following questions

in brief :

w1 il ez 1 e #Heba 5 Ged firm

(@)
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Distinguish between fiscal deficit and
primary deficit.

JrecERn Wt =F aefie wfty e A
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(b)

(©)

(d)

()
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(4)

Write two characteristics of small-scale
industries.

55 ST o1 CAfET for |

Write two merits of GST.
GST 9 461 et foran |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy.

g 2 SRET TdAfoe RyEeaem b
A Ao S 4 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

R TG IJAFE THEE A SO A 239
341 R IET Yot “med foe |

Tertiary sector in India employs two
different kinds of people. Who are
they?

SR CRINGR W [few [w A Fa
FA | (OS2

( Continued )

(g)

(0

3. Answer
questions :

(S)

Mention two objectives of the National
Competition Policy of India.

sRed AW AfecfeREe Mes 1o Trwn
Y 40

State any two problems of Public Sector

Enterprise of India.

TRy el ] SR & @I 1ol e
T 41

any four from the following

W@ﬁmmﬁ@mﬁﬁ%ﬁwm:

(@)

(b)

(c)
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Explain any five instruments of fiscal
policy in India.

SHed IEIRE W & @rean #mor =nfRen
IS SN

Discuss the tools of monetary policy
of India.

SRS] AT SIREAPTZ A 1 |

Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

TS COEEFA Tedive INTR e &1

Ao Sy BRI AT ToBPRR. A4
31 |
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(9)

(h)

(i

0)
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(8)

Give an assessment of the Government
policy towards foreign investment.

Qe RAER crqe e ew o
ST SHISKCGHT |

Point out the various shortcomings of
the monetary policy of India. Suggest

some remedial measures. 6+4=

W‘{El%ﬁﬁ:ﬂ“ﬂﬁﬁmwwmﬁﬁmr
SPIRAPTR R 316 Reoga e fo |

Explain the causes of low Productivity
of Indian agriculture, Give some
suggestions to increase agricultural
productivity.

m@a?ﬁaﬁa%awwmww|
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fram

Discuss the role of pypie
industries in the €conomic dey
of India.
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ECONOMICS

Paper : ECO-HC-6026
( Development Economics—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

oq 2PrRd R CRICeTl WRb Ted fir
(a) Define demography.
Geegd Agel i |

(b) Give one example of renewable
resource.

FRATIICI ST oA Swrzae i
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(c)

(@

(e)

(g)

(h)

@)

0)
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: as 3
Climate Change helzirls Agreement on

SIERTC
WWC"@QW o

?

What s

relationg?

$f

v wwiﬁm%{wm?
Deﬁne‘public goods

&= T35 5y gy |

Give on .
governance

o
wwwmaﬁrﬁmi

State the
‘behaviour,

FOF AT 9L 147 ey |

mean :
t by land tenure

ke
Y  Success factor of

m -
eamng of indiViduaj

Wri
rite one reason of Urban
population

q 0

AR SR 3w PR forsy |
What is life €Xpectancy?

I SRR {3 9

Define crude birthrate.

SN SrRRe Sice fog |

( Conﬁnu€d )

(3)

(k) What is population dependency ratio?

SR s S e 3902

() Mention one problem associated with

land.
S TS IS b1 TP BeEd |

(m) Give one characteristic of social group.

s STEe @1 cafiEs for |
(n) What is microfinance?
wy RegeE 62

(o) What is meant by ¢
resource?

e e STw et g AW 2

from the following
2x5=10

ommon property

2. Answer any five
questions :

o e R G <fobre Ted fan
(a) Define sustainable development.
e e S| e |

(b) How does population growth contribute
to the development process of

developing countries?

T opre SRl e T afers
femica <= e 2
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(c)

(@)

()

(9)

(h)
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(4)

Write dowh two

b Problems that have

€en seen in ryrg] credit market
AR A9 ITRS 74t oy 1 5751 o |

Mention the ma:
: majo
In the last 150 Jy: E;as of globalization

Mention tw

0
countries cap, ireas Where developed
to protect €nvirg 2 devdopil‘lg countries

Reere sgp ;memal degradation.
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( Continued )

(S)

3. Answer any four from the following

questions :

W 2P R e Bk T i -

(a)

(b)

(c)

(d)

(e)

22A/853

Briefly explain the relationship between
nutrition and labour productivity.

Aq TeemERIeTel W Af3 AH THECO! BYLF
efe 41|

Point out the main determinants of
good governance framework.

Wwamﬁmmwﬂn

Explain the purpose of the study
of individual behaviour in social

environment.

WWWW‘IWWWW
713 41 |

Write a note on financial instability
in a globalized world.

g fae A8 SETER ¢Fe Jft @
GEIl

What are the consequences of
migration? Explain.

oeeq fRaf® & & 2 400
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(8)

(g) Discuss the factors which influence
individual behaviour in an organization.

IRETT QOIS FT SABIIE AT 1 IR

S{TCEATo=T P41 |

(h) Discuss the terms governance
in organization and community
governance.
AT P SIF ST P X R R
HICE®l 94 |

(i) Explain the connection between

: income,
mortality, fertility and hum

an capital
accumulation,
HH, I9RE, TRH € e T4 H21[
& ALCIISICOT =T 47 |

() Explain the decline in the efficiency of

an organization in terms of Hirschman’s
exit, voice and loyalty theory.

m A, I6+ < S5 ER‘;{E\Q
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